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01| T & H B 503 566 662 1,228
002 | 77 A H 691 749 812 1,561
003| k£ & H Hfr 357 356 338 694
004 | % 9 g i) 986 1,204 1,098 2,302
005| XK R Hr 732 893 902 1,795
006 | & & F H 1,352 1,681 1,578 3,259
007 | # R  H 171 267 212 479
08| 5 4 H 815 965 1,049 2,014
009 | K f& H 535 728 712 1,440
010 | R H ) 1,001 1,320 1,434 2,754
011 | £ B F B 656 823 859 1,682
012 | & & H 879 1,154 1,284 2,438
013 | 8h H ) 557 752 843 1,595
04| & & H 882 1,121 1,142 2,263
015 | B B H 118 144 167 311
061 | XEREHET—TH 37 39 25 64
062 | XFEHETZTH 203 182 192 374
063 | XEHET=TH 16 36 61 97
064 | XEHEMTH 99 104 128 232
071 | 4A%HAHE—TH 34 28 44 72
072 | A%HABIZTH 267 268 224 492
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081 | M BT — T H 0 0 0 0
082 | FA T — T H 32 661 41 702
083| FA BT = T H 165 164 197 361
091 | lis#Hr— T H 82 82 106 188
092 | BT _—TH 90 248 408 656
101 | FMET—TH 103 100 106 206
111 | FSHBET—TH 123 135 136 271
112 | FSHBEIZTH 84 71 66 137
113 | FHFHET=TH 112 109 125 234
114 | FHHEETETH 138 138 157 295
115 | FEHEATH 156 113 166 279
116 | FHHEETATH 146 138 137 275
117 | FEHETETH 123 140 157 297
118 | FHHEET/NTH 136 142 150 292
121 | EBFHI—TH 79 66 76 142
122 | EBFHAI_TH o1 65 62 127
123 | EZRFHI=TH 79 78 88 166
124 | EBFHAIMNTH 70 70 50 120
125 | ERBFHATH 103 110 115 225
126 | EBFHAIANTH 151 129 127 256
127 | EBFHETH 138 90 152 242

a & 13,012 16,229 16,388 32,617




